Command Prompt

D:~UoA~BioinformaticsJavarjavac Biolnfo.java
D:~UoAsBioinformaticsJavarjava Biolnfo
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he path is:
4.3 <=» 3.2 {=>» 2.1 <=» 1,1 <=> 8.8

Alignment of Sequences:

A G T A

A — T A

D:~UoAsBioinformaticsdJavarjavac Biolnfo.java

D:~UoAsBioinformaticsJavar>java Biolnfo

A4 -1 -2 -3

is:

t
> 4.3 <=3 3.2 <= 2,2 <=> 1.1 <=> 8.8
Alignment of Sequences:
A G TAC
A G — A C
D:~UoA~BioinformaticsdJavarjavac Biolnfo.java

D:z~UoAsBioinformaticsJavar>java Biolnfo
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6.8 <=3 5.7 (=3 4.6 {=> 3,5 <=> 2.5 <{=> 1.4 <=> 8.3 <=> 8.2 {=> 8.1 <=> 8.8

Alignment of Sequences:
- — TGCAATCGAG
A ACTG-ARTC - -

D:sUoAsBioinformaticsJavalrjavac Biolnfo.java
D:“UoA~BioinformaticsJava>java BiolInfo
-3 4 -5 6 -7

=3 =1 =2 =3 =4
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is:

Alignment of Sequences:
- — TGCAATCGAG
A ACTG-AARTC - -




